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Question 3: 

Description of Nekchand’s field:  

“In my field when I used to join the opposite corners with ropes, the lengths of 

the ropes required were equal and the two ropes bisected each other.” 

Listening to Nekchand's description about his field, Roshni concluded that his 

field might be a square or a rectangle. Do you agree with her opinion? Justify. 

 Answer 3: 

Here,  

Properties of Quadrilateral  

Diagonals of square are equal in length and bisect each other.  

Diagonals of rectangle are equal in length and bisect each other. 

Given: A quadrilateral ABCD with AC = BD in which AC and BD bisect each 

other at O.  

 

 

 

 

To find: Type of quadrilateral ABCD. 

Proof: In ∆𝐴𝐵𝑂 and ∆𝐶𝐷𝑂  

𝐴𝑂 =  𝐶𝑂      [Given] 

𝐵𝑂 =  𝐷𝑂       [Given] 

∠𝐴𝑂𝐵 =  ∠𝐷𝑂𝐷     [Vertically opposite angles] 

⇒ ∆𝐴𝐵𝑂 ≅ ∆𝐶𝐷𝑂  [By SAS property] 

So, 𝐴𝐵 =  𝐶𝐷  [CPCT] 

Similarly   𝐴𝐷 =  𝐵𝐶 

⇒ ABCD is a parallelogram. 

[Theorem: If opposite sides of a quadrilateral are equal, it is a parallelogram.] 
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But 𝐴𝐶 =  𝐵𝐷     [Given]           

⇒ ABCD is a rectangle. 

[Theorem: If the diagonals of parallelogram are equal, it is a rectangle.] 

 

So, we are agree with Roshni’s opinion that the field will a rectangle. 
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